¢ (trailing)

1 do
o dy(trailing)

d
dy: (tre(lriling) [p b]

[—2.6, —1.65]

[—1.65, —1.1]

[—1.1, —0.55]
[—0.55, 0]

[0,0.55]

[0.55,1.1]
[1.1,1.65]
[1.65,2.6]

(8.68 &£ 0.152 & 0.446) x 102
0.191 + 0.002 = 0.006
0.265 + 0.003 = 0.009
0.299 + 0.003 = 0.007
0.297 - 0.003 + 0.012
0.27 & 0.003 + 0.008
0.197 + 0.002 = 0.006

(8.644 = 0.144 + 0.387) x 102

(7.056 & 0.131 & 0.73) x10
(1.552 & 0.016 = 0.119) x 102
(2.158 = 0.02 = 0.146) x 102
(2.427 4 0.022 + 0.174) x 102
(2.418 = 0.023 & 0.19) x 102
(2.194 + 0.021 4 0.151) x 102
(1.598 & 0.016 + 0.119) x 102

(7.027 & 0.125 & 0.62) x 10



